Progress test 4

Colour the best estimate for each item.

a b

10g 200ml 20g
; e ———)
;‘\ 1kg 2000ml 2kg
100kg 200! 200kg

Fill in the missing numbers.
a 7m= cm b 2.5cm = mm
¢ 0.6m= am d 0.8km = m
Solve these measurement problems.
a | have a 1-litre bottle of water. | drink 300ml.

How much is left?
b | have a piece of wire that is 4m long.

| cut off a piece that is 60cm. How much string remains?
¢ A seed begins to grow. After two days the shoot is 6mm tall.

It grows a further 2.7cm over the next two days. How tall is it now?
Find the perimeter of these shapes.
a b 9cm C

4cm 10cm
6cm 6cm 6cm
11cm
8cm
14cm
cm cm cm

Write the same time on the matching clock. All the times are in the morning.
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